Levers
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1. A lever is a simple machine which helps us to do work with less effort.  A lever is any shaft which rotates around a fixed point.  Look at the following picture to understand the parts of a lever:

· Fulcrum = the point about which the lever rotates.

· Effort Arm = the distance from the fulcrum to the effort end.

· Resistance Arm = the distance from the fulcrum to the resistance end.

2. When a machine makes it easier to move object we say that the machine has mechanical advantage.  

· Mechanical advantage is the number of times a simple machine will multiply the input force.  The bigger the mechanical advantage, the more force goes into moving the resistance ( the thing being lifted)
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This lever has a mechanical advantage of 1.
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This lever has a mechanical advantage of 10.

3. To calculate Mechanical advantage mathematically use this formula:

Length of effort arm

MA =
-----------------------------
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Length of resistance arm

4. There are three types of levers:

· Type I = The fulcrum is in the middle (like a seesaw)

· Type II = the Resistance is in the middle (Like  a wheelbarrow)

· Type III = the Effort is in the middle (Like your forearm)


Friction: 

1. Friction is a force which resists motion.  All machines have some friction.  This friction takes away from the machine’s mechanical advantage  This means that a machine with lots of friction is an inefficient machine.

2. Friction is caused by rough surfaces rubbing on each other. 
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3.  A lubricant such as oil reduces friction.
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